BT TRIA O - HEHHEE X T 3FEE§€E1 1AERIBHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,489 86,971 41,503 45,468
RIRET1T 6 15 9 6
RIRET2T 27 57 27 30
AIEET3T 180 596 293 303
RIRET4T 396 974 479 495
B 609 1,642 808 834
REH 2,669 6,209 2,912 3,297
L&A 4222 9,528 4,482 5,046
5E 2,556 6,025 2,933 3,092
B AN 1,254 2,865 1,336 1,529
BERT 1,247 1,916 903 1,013
BER2T 685 1,335 645 690
BHERST 389 882 430 452
g 2,321 4,133 1,978 2,155
BARE 253 647 327 320
= 2,186 5,225 2,472 2,753
hERE 627 1,455 664 791
e 2,401 5,229 2,519 2,710
25 L ET 2,258 5,142 2,462 2,680
B &AL BT 80 169 68 101
HEFILET1T 567 1,226 577 649
HEFILET2T 622 1,372 645 727
HEZFILAT3T 612 1,444 712 732
g 1,881 4211 2,002 2,209
B & it B Fr ET 688 1,659 798 861
BHEREBET1T 609 1,251 594 657
BHERERET2T 759 1,761 858 903
BHERERETST 773 1,677 762 915
HERERET4T 449 979 477 502
HEHFMHETST 820 1,701 804 897
HEHFHET6T 876 2,007 957 1,050
HEFRET7T 833 1,859 892 967
HERERETST 71 216 101 115
£t| 57190 11,451 5,445 6,006
HEF R FET 1,828 3,957 1,929 2,028
S|EFET1T 568 1,527 762 765
S|EFET2T 764 1,826 872 954
S|EFET3 T 721 1,440 675 765
g 2,053 4,793 2,309 2,484
ERE1T 570 1,350 643 707
EIRET2T 388 1,031 516 515
EREIST 470 1,311 640 671
EIRETAT 696 1,540 702 838
EIZEIST 480 996 508 488
g 2,604 6,228 3,009 3,219
MEH 2,774 6,349 3,017 3,332
J\THET1T 33 37 13 24
J\THET2T 26 64 31 33
J\THEI3T 56 122 57 65
B 115 223 101 122
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